residual of frame 0, mean = 2.406745433807373 +-9.39711856842041
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residual of frame 1, mean = 4.124514102935791 +- 9.324647903442383
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dual of frame 2, mean
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residual of frame 3, mean = 0.5345160961151123 +- 9.458698272705078
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dual of frame 5, mean
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residual of frame 6, mean = 0.3890644907951355 +- 9.367447853088379
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residual of frame 7, mean = 1.1387639045715332 +- 9.435105323791504
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3.6077675819396973 +- 9.359809875488281

dual of frame 8, mean
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residual of frame 9, mean = 0.03794749081134796 +- 9.311258316040039
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1.7177660465240479 +- 13.164121627807617

dual of frame 0 - 1, mean
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residual of frame 1 - 2, mean = 5.200525760650635 +-13.21220588684082
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dual of frame 2 - 3, mean
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residual of frame 3 - 4, mean = 0.7782281041145325 +- 13.44852066040039
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residual of frame 4 - 5, mean = 0.1303497552871704 +- 13.183914184570312
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residual of frame 5 - 6, mean = -0.7631258368492126 +- 13.21893310546875
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dual of frame 6 - 7, mean
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residual of frame 7 - 8, mean = 4.746533393859863 +- 13.345556259155273
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3.645718574523926 +- 13.141738891601562

dual of frame 8 - 9, mean
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dual of frame 9 - 10, mean
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1.353042721748352 +-13.211779594421387
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